CSE332 Week 3 Section Worksheet

1. Starting with an initially empty AVL  tree:

a. Insert the following elements 1-10 in that order
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b. Delete 2, 10 & 1

Delete 2:
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Delete 10:
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Delete 1:
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2.  Starting with an initially empty splay tree, perform the following operations in order:

a. Insert 2, 4, 6, 0 & 1

[image: image5.png]



b. Insert 5
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c. Splay about 0
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d. Splay about 6
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e. Splay about 2
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f. Delete 5

First splay 5 up to the top, remove it, then splay the largest value in the left tree up to the top
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